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AL o 4,167,189 4,051,877 115,312
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405 AAFH 54| 20,000 0 20,000
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A AR 405,541 402,241 3,300
A RS E 122,241 118,941 3,300
201 Guk-FH] 14,800 11,500 3,300
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ORA A A LA R =2 AA =
7474 6,000,000 - 7174 3,000,000¢)= 3,000
(M ASZEAEA LA 2
7473 1,000,000 - 717 700,000 = 300
Ay F AR (AHASNLY) 1,598,949 1,578,429 20,520
SR 1,275,553 1,274,333 1,220
SRtk 1,275,553 1,274,333 1,220
204 A3 69,320 68,100 1,220
47,120 45,900 1,220(02 A3 HZH| 1,220
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74747,940,0009 - 714 6,720,000 = 1,220
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7] 37 ] 323,396 304,096 19,300
201 Luke-gn 291,946 280,946 11,000
192,366 181,366 11,000(02 &&-2%H 11,000
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OFFaFZAA 11,000
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7474 114,500,000 - 717 110,000,000 = 4,500
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A7 12,788,0009 - 714 6,288,0009= 6,500
405 AAEH 54| 16,550 8,250 8,300
16,550 8,250 8,300(01 ApaHH & EFH 51 8,300
O=ZAg(A) 2,000,000+ 1t} = 2,000
O A Al 7] 1,300,0009) * 1t} = 1,300
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